Algebra 1 Notes... KEY

Date:

Divide Polynomials Goat - Divide polynomials.

LNV 9 OB Divide a polynomial by a monomial

Divide 10x° — 25x* + 15x by 5x.

Steps:
0% 2-25x & +15%

= SX Step 1: Write the division as a fraction.

3 Tris IS A med TRLSTEA
10X "+ —2s%® + 1SX_ Step 2: Divide each term by SX .
5% 5x Sx

AXE -sx +3 Step 3: Simplify

— —

Step 4: Check

§ meatelly Cheek by mul+ielyine

To check your answer, 2 3 5
multiply the quotient | S5xe(_ Z X= -SX+3 ) =10x" —25x" + 15x
by the divisor. s 3 —
10X > =25 X%+ Xy <_/};
%4
P@UQL

o Checkpoint Complete the following exercise.

1. Divide (12x° + 9x* — 3x) by — 3x

12x 3+ 9 x % -3x

(f — 3 X
e —4xZ —3x +l

-
-
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|9, G114 0| 0WH Divide a polynomial by a binomial

versus
Review arithmetic long division Long division with variables
2
2a) Divide 81,536 by 32 2b) Divide 4x* —4x—3 by 2x + 1 1x -4%-3
— 2.x4\
PAAcCTIdN
A 54
AR L
~le0 N ~bx =3 @0
Lo When you + @ bein
Is 3 Su bitve ot 4+ (.‘.‘:(,x—3§ d 3
—\lz% ¥ Chenge +he Swnd
as SQbtra ot VAN
__asf +o o dditivnl ZO
and Fake the No\ AP
O apposit ot / (em @i
o whetls ra
NORem ajnDe 2 “the € )'s
How can you check? How can you check?
MULT  @2x-3)(Zx+\) =
oy dcam
51,530/ Hy*-4x -3,
| DNV R Divide a polynomial by a binomial with a remainder
Divide 2x* + 9x + 12 by x + 3. —_
LX+3
X3 2X = +Axtiz
* [(72xF +bx) L
et S
AX +12 /7
L (3X +9) P
e > Check
Remender (x+3) (2x+3) =
ax &+ 9x +9
Page 2 of 4 comeindts > +3 -

2x T+ Ix+12v



Algebra 1 Notes...

|00, 9N\ Vi B XY Rewrite polynomials
rewriYe O Ayt 4x-1
descen d\\r\a W:!,Q/‘ )(,+\

Divide 2x— 1+ 3x by 1 + x.

Meatelly chedk
(e (3x-1) = 3xEq2v-1

| . N\ 04 B VISR Insert missing terms for “place holders” / N oG
. . 2 2 € MiISunG
Divide —24 + 6x” by —6 + 3x. 5 Gx 24 < TE 2m
Ix -6 ({ mus+ add

@ Flalcc
3Xx-6 [LxZ+0x —a¢ hele

2r <0x")
:((,x" =12x) |,
o Jax —ad
~(12x -a%)

719 [fzx-t-‘-/ )

N r{rna.“qéer\

remember

mcnhl\a cheeck
Zx+9)( 3x-¢) =
Cx2 -2
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o Checkpoint Divide.

2. ((8-2x+x)+(2+x)

Xt-2x-%

x2ons
\&

-4
X+ | xz2 —2x -§

X (x* +‘zx> \L
v T
—4x -8

- (4% —% )

R

O
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3. (X’ +125)+(x+5)




